| 200 1 19\ [ o YO

0. M. R. Serial No.

Question Booklet Number

B. Sc. (Ag.) (First Semester) EXAMINATION, 2021-22

(0ld Course)

RURAL SOCIOLOGY & EDUCATIONAL PSYCHOLOGY

Paper Code

Ag|1]07

Time : 1:30 Hours |

Instructions to the Examinee :

1.

Do not open the booklet unless you are

asked to do so.

The booklet
Examinee is required to answer any 50
OMR Answer-Sheet
provided and not in the question booklet. If

contains 60 questions.

questions in the
more than 50 questions are attempted by

then the first attempted 50
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student,

All questions carry equal marks.
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1. O T fagme g ? 1. Sociology is the science of :

(A) GHST (A) Society
(B) URAR (B) Family
(C) ¥qe (C) Group
(D) SUYa H H Bl el (D) None of the above
2. WIER & SHIYAIR® 99 @& w9 § o1 2. The informal rule of behavior is known
T & : as:
(A) BB (A) Folkways
(B) (B) Norms
(C) dfdl (C) Laws
(D) ¥AR™ (D) Mores
3. AN HI A T 3. Mores means:
(A) TIBR BT WAUT TNId] (A) Established way of behavior
(B) WIER BT WIHR TRIBT (B) Acceptable way of behavior
(C) IR BT ARG 4 (C) Informal rule of behavior
(D) Suga H A Bl 7Tl (D) None of the above
4, WA W ‘UMY U ¥ ST ®, o 4. The term personality is derived from
3. word ‘persona’ which is a/an :
(A) oAfeT vt (A) Latin word
(B) hd UG (B) French word
(C) W& v (C) Greek word
(D) 3l oI (D) English word
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TR T3 & :

(A) JiToaRe e

(B) IR-3Av=Re e
© (A) 3R (B) T
(D) SWH # | B &l
foddl geT @ dl W @R ey fam
[y HEa €

(A)  wfedga

(B) TWE

(C) RS

(D) SWad # | BIg T2
IO, 3T, I YBR © :
(A) Hiftd TR o
(B) IR-¥Ifd FwHd B
© (A) 3R (B) I

(D) SUYa H A Bl 7l
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6.

Extensionis a :

(A) Formal education

(B) Non-formal education
(C) Both (A) and (B)

None of the above

(D)

Judgement without considering the facts

of an event is called as :

(A) Stereotype

(B) Prejudice

(C) Ethnocentrism

(D) None of the above

Food, shelter, clothes are type of :

Material culture

(A)
(B) Non-material culture
(C) Both (A) and (B)

None of the above

(D)

Set-A



10.

BIhdS, AR, wiel, AR YR ¢ :

(A) IS IR &
(B) MG I9d &
(C) e E @

(D) mMIfT® Tfefierar @

$UCIIE Uh YR & :
(A) cgfada &
(B) &l @I
(C) gfteamT @

(D) SWYad # | BIg T2

A o o1 39 @ w9y H W@ S

ST &

(A) R fafd

(B) e fafy

©) (A) 3R (B) <

(D) SWad # | BIS T
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Folkways, norms, laws, mores are types

of :

(A) Social change

(B) Social interaction

(C) Social control

(D) Social mobility

Introvert is a type of :

(A) Personality

(B) Intelligence

(C) Attitude

(D) None of the above

Sociometric method is also

as:

(A) Preference method

(B) Ranking method

(C) Both (A) and (B)

(D) None of the above

known

Set-A



11. N & T AP M & oF1 oar - 11 Working together with people is known

. as:
(A)  DRITIRIH (A) Co-operation
(B) THMISIH (B) Accommodation
(C) THeadRIH (C) Acculturation
(D) SWE ¥ | TS el (D) None of the above
12. “é': x100 WA & : 12. C: *100 is the formula of :
(A) cgfada & (A) Personality
(B) g o1 (B) Intelligence
(C) gftcdrm & (C) Attitude
(D) Suga H A Bl el (D) None of the above
13. U RIGMIfd Idl, GRS e Iaexor & 13 A political leader, reformers etc. are
example of :
(A) IUCIGC B (A) Introvert
(B) UFSIAC & (B) Extrovert
(C) Tdac & (C) Ambivert
(D) SUYa H A Bl 7l (D) None of the above
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14, 47 &1 3 B
(A) AER BT AT TRIHT
(B) IER &1 WHR T

(C) FIER &I ARG 4

(D) SW& H W PIg T

15. M, fdeam, e SaTeR ¢

(A) Hiftd TR o
(B) IR-¥iftid HwHid B
(©) (A) 3R (B) T
(D) STda # & Big AL

16.  NATE a1 @ 39 7 J A S S

g
(A) 3Fell IR

(B) @I HHMdR
(©) (A) 3R (B) I

(D) Suga H A Bl el
17. URAR &9 9d o018 & ?

(A) T

(B) TG AL

(© (A) 3R (B) I

(D) SWad # | BIS T
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Norms means an :

(A)
(B)
(©)
(D)

Established way of behavior
Acceptable way of behavior
Informal rule of behavior

None of the above

Knowledge, believes, values are example

of :
(A)
(B)
(©)
(D)

Material culture
Non-material culture
Both (A) and (B)

None of the above

Opinion leader is also known as :

(A)
(B)
(©)
(D)

Early adopter
Key communicator
Both (A) and (B)

None of the above

Family is the basic unit of :

(A)
(B)
(©)
(D)

Society
Social institutions
Both (A) and (B)

None of the above

Set-A



18.

19.

20.

21.

g IS & 18.

(A) TRIR @I

(B) D&THET

(C) (A) 3R (B)
(D) W # ¥ PR T

TH Uil 3R dg Ufd SSTexy ¢ 19.

(A) Sifge IRAR B

(B) Uleluusd URAR &
(C) IR URAR &l
(D) R TRER T

e oy fove @99 & & fou 20

HarH fafg g ?
(A) I Yo

(B) TH Tal. T
(C) TUH. Tal. 9.
(D) 3NfUFRE e

e BT/ d@ §/8 : 21.

(A) Hrmfers &3
(B) BH @I HIGI
(C) TN &1 W8

(D) ST W

Ag-107 (8)

The example of group is :
(A) Family

(B) Classroom

(C) Both (A) and (B)

(D) None of the above

One wife and number of husbands is an

example of :

(A) Joint family

(B) Polyandrous family
(C) Polygynous family

(D) Nuclear family

Sociometric method is best method for

selecting :

(A) Gram Pradhan
(B) MLA
(C) MLC

(D) Opinion leader

Which is/are element(s) of community ?

(A) Geographical area

(B) We feeling

(C) Group of people

(D) All of the above

Set-A



22.

23.

24,

FHTAS’ TG B ST T8 &
(A) olfes 7 |

B) N 7< A

(©) feT + Me I ¥

(D) Wd ¥=< |

Uh-GR B GV B WHR AT IR

Uh A G fdbiid A1 ST Sfr]
g

(A)  BRITRIA

(B) dRifSHI

(C) TheansH

(D) USRI

TG SETERY ¢

(A) Hrmfere wTioeiiear &
(B) &fat wfcreferar &
(C) <iqaq fereierdr &1

(D) SWad # | BIS T
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22.

23.

24,

The term ‘sociology’ is derived from :

Latin word

(A)
(B) Greek word
Latin + Greek word

(©)

French word

(D)

Accepting each other’s view and

develop a common understanding is

known as :

(A) Co-operation

(B) Co-ordination
Acculturation

(©)

Accommodation

(D)

Promotion is an example of :

(A) Geographical mobility

(B) Horizontal mobility

(C) Vertical mobility

(D) None of the above

Set-A



25. WR & SMEaIv ¥ BEM & 9w @ - 25.

(A) 3FTdRE I=oT
(B) dTERY UROT
(C) (A) 3R (B) I

(D) STda # & Big AL

26. TP U 3R &g Tl SEeR 2 26.

(A) diise IRAR &1
(B) Ulelivvsd URAR &l
(C) UGN YRAR I

(D) YfdRR URAR HI

27. ‘fowR’ wIg @) IART B 27.

(A) olfe e |
B) WF 7=< |
(C) Wa v< |

(D) f&t o &

Ag-107 (10)

In extension point of you view the farmer

need :

(A) Intrinsic motivation

(B) Extrinsic motivation

(C) Both (A) and (B)

(D) None of the above

One hushand and number of wives is an

example of :

(A) Joint family

(B) Polyandrous family

(C) Polygynous family

(D) Nuclear family

The term ‘extension’ is derived from :

(A) Latin word

(B) Greek word

(C) French word

(D) Hindi word

Set-A



28. I8 A IR HfY T T 28.  The group which is permanent in nature,

& w7 3 9 S is known as :
(A) TIHG TE (A) Primary group
(B) i NbE (B) Secondary group
(C) Siu=iRG W g (C) Formal group
(D) SuYa H H Bl el (D) None of the above
29. MG A &I el 3BI3 & 29.  The basic unit of social institution is
(A) TIRAR (A) Family
(B) wHIS (B) Society
(C) ¥HcH (C) Community
(D) Sugad Fl (D) All of the above
30. WM & TP WH W R WH W W 30, Movement of individual from one place
& FET T to another place is known as :
(A)  Armifere wfoefrerar (A) Geographical mobility
(B) &faet wicrfrerar (B) Horizontal mobility
(C) <igaq Tfreierar (C) Vertical mobility
(D) Suga H A Bl el (D) None of the above
31. ‘SR g I IR §S & 31. The term ‘motivation’ is derived from :
(A) ofeT oeg 4 (A) Latin word
(B) d < | (B) French word
©) Mo <A (C) Greek word
(D) SUYa H A Bl 7l (D) None of the above

Ag-107 (11) Set-A



32, MNI Foll P YIGE Ui oire] @ 32.  The provision of heavy punishment is

found in :
(A) BIdHdS H (A) Folkways
(B) =i A (B) Norms
(C) e H (C) Laws
(D) ¥a H (D) Mores
33, ‘R W& @ SR gs ¢ 33.  The word ‘education’ is derived from :
(A) fed I | (A) Latin word
B N <A (B) Greek word
(C) Wd < | (C) French word
(D) =i o= ¥ (D) Hindi word

34. HIdI, far ik 9o sfdared 9= Uh 34. Father, mother and their unmarried

Ao & - children is a feature of :
(A) dilse URAR P (A) Joint family
(B) Ufeiivugd URAR &l (B) Polyandrous family
(C) TR YRAR &I (C) Polygynous family
(D) gfdeTdR URAR B (D) Nuclear family

35. A BT WY B 35.  The shape of society is :
(A) Thd MHR (A) Circle shape
(B) Sl MR (B) Triangle shape
(C) SMBHREM (C) Shapeless
(D) SUYa H A Bl 7l (D) None of the above

Ag-107 (12) Set-A



36. fUBd Ig9d 3R FH & JER W Th
i e MRed 8 ela =ar s,
ORI S &

(A)  Siedga

(B) e

(C) JauEaTe

(D) SEw ¥ 3 K T

37. TP Sl GYT SUGRY O TYIER §RI
RIS 8, S A WA
(A) T
(B) IR
(C) WA
(D) Sugad FI

38. Sl SUYE ¢
(A) R afl @ forg
(B) 3Fug ol @ forg
(©) (A) 3R (B) 3l
(D) SUYa H A Bl 7l

Ag-107
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36.

37.

38.

On the basis of past experience and
knowledge an individual develops a fixed

image is known as :

(A) Stereotype

(B) Prejudice

(C) Ethnocentrism

(D) None of the above

A data collecting tool which is filled by

enumerator known as :

(A) Questionnaire

(B) Schedule

(C) Question paper

(D) All of the above

The schedule is suitable for :

(A) Literate people

(B) lliterate people

(C) Both (A) and (B)

(D) None of the above

Set-A



39.

40.

41.

Ag-107

Rk GG o e | i M A
feeres gIRT g7 T @ 7

(A) HPTER

(B) 3R¥]

(C) . U1 g

(D) IR B

B W WA ¥IgR H Ao
IRacH @l § ?

(A) TIRAR

(B) ReIford FwerH

(C) i R

(D) IISHITId HReA™

difde 3R oriified wepld &1 gRadd
HEA ©

(A) SIS o

(B) MG TH®

(C) WMINTG WIBRUT

(D) MINI® IRads

(14)

39.

40.

41.

“Society 1s the web of social

relationship,” said by :

(A) Maclver
(B) Aristotle
(C) J.P.Leagans

(D) Auguste Comte

Which one of the following institutions
brings the desirable changes in human

behavior ?

(A)  Family
(B) Educational institutions
(C) Economical institutions

(D) Political institutions

An alteration of material and non-

material culture is called as :

(A) Social control

(B) Social interaction

(C) Social stratification

(D) Social change

Set-A



42.

43.

44,

45.

fep - 3R BH BT 91T b

e H Ul 9 g
(A) TS FE
(B) RS wie
(C) IR-Wiedh e
(D) STE W

URIR ISR 3 -

(A) IR-WBH TE
(B) YOIl WYE &I

(©) (A) 3R (B) 3Tl @l
(D) STda # & Big AL
Rgel Suged Bl © :

(A) R A & foru

(B) 39 AT & fere
©) (A) 3R (B) I & forg
(D) SWad # | BIg T2

T eroT Rigra ey awfid g 2

(A e
(B) afdad
(C) IR
(D) Y

Ag-107

42.

43.

44,

45.

More face to face and we feeling is found
in which group ?

(A) Primary group

(B) Informal group

(C) Non-voluntary group

(D) All of the above

Family is an example of :

(A) Non-voluntary group

(B) Permanent group

(C) Both (A) and (B)

(D) None of the above

The questionnaire is suitable for :
(A) Literate people

(B) Illiterate people

(C) Both (A) and (B)

(D) None of the above

Personal traits theory is related to :

(A) Intelligence
(B) Personality
(C) Motivation

(D) Leadership

Set-A



46. TP < GUT SUBRY ol W Ufadre] gy 46. A data collecting tool which is filled by

W] SI7dT g\’ I FE odT © respondent himself is known as :

(A) T (A) Questionnaire
(B) 3Tl (B) Schedule
(C©) Y-uA (C) Question paper
(D) SUgad JHI (D) All of the above
47. YER BT 7o RECIIE 47.  The fundamental objective of extension is :
(A) ST Idrad (A) High production
(B) = A (B) Highincome
(C) ¥R ¥ IRIH TR A @I (C) Development of people by
RIPTT BT changing behavior
(D) SUYa H § I Tl (D) None of the above

48. HE @ GaTghH  3TTaTchd ﬁ:@r—c{ 48. Maslow’s hierarchy of needs theory is

aRE T related to :

(A) IR ¥ (A) Motivation
(B) wfddwa | (B) Personality
(C) dfgwar ¥ (C) Intelligence
(D) gicalr ¥ (D) Attitude

Ag-107 (16) Set-A



49. . U1 oY fogsd o & ? 49. J.P. Leagans is a father of :

(A) FHISRITNA (A) Sociology
(B) UER (B) Extension
(C) = (C) Psychology
(D) SuYa H H Bl el (D) None of the above
50. W9 il RUTAN UG & ®Y H o war  50. The group which is known as temporary
3 nature is :
(A) Wfe® T (A) Voluntary group
(B) IO NbE (B) Secondary group
(C) ARG NbE (C) Formal group
(D) SUgad JHI (D) All of the above
51. Y9 @ Wl AW W 99 8, TP ugfy 51 Own culture is best and superior than
HEd 2 other is a tendency known as :
A) © edg (A) Stereotype
(B) qg‘rﬂ% (B) Prejudice
(C) auIfdsare (C) Ethnocentrism
(D) Suga H A Bl 7Tl (D) None of the above
52. fbg UeR & AMNe FEI0 # Soolgd 52. No any punishment after violation is
@ 9 B To e IRl oy ? found in which type of social control ?
(A) AR™ (A) Mores
(B) =i (B) Norms
(C) WIHd] (C) Folkways
(D) Tl (D) Laws

Ag-107 (17) Set-A



53.

54.

55.

56.

el T SN &
(A) 7T e

(B) WfRod W
(©) Siw=Re e
(D) SWa &l
forde Toa TR g
(A e |

(B) wfddwa ¥

(©) gfemm

(D) @ ¥

ReRe fer fred T did o 3 2
(A) TRAR

(B) A

(C) TR

(D) ST T

IER Bl AU TUDT YIIT A 3
(A) HIdHdS H
(B) R H
(C) ARW #

(D) T H

Ag-107
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53.

54.

55.

56.

Classroom is an example of :

(A) Secondary group
(B)
(©)

(D)

Voluntary group
Formal group

All of the above

The Likert scale is related to :

(A) Attitude
(B) Personality
(©)

Intelligence

(D) Leadership

Ascribed role is assigned by :
(A)  Family
(B)
(©)

(D)

Society
God

All of the above

Established way of behavior is found in :
(A) Folkways
(B) Norms
Mores

(©)

Laws

(D)

Set-A



S7.

58.

59.

60.

Ag-107

AR DI fordaad oTa & ?
(A) AT

(B) WA=

©) AR

(D) SWH # | B &l

I gRT W TF DI Mg AGT DI AT
ST

(A) ST HfFeT

(8) freiRa sfam

© (A) 3R (B) T

(D) SWad # | BIg T2

FIER & 95 & ®Y H AT O & -
(A) HAIfdSH

(B) TSI

(C) fhiSrararal

(D) UER

(19)

57.

58.

59.

60.

Auguste Comte is the father of :

(A) Sociology
(B) Psychology
(C) Extension

(D) None of the above

Education is the process of ............. :

(A) Changing in skill

(B) Changing in knowledge
(C) Changing in attitude
(D) All of the above

The role decided by individual himself is

known as :

(A) Achieved role

(B) Ascribed role

(C) Both (A) and (B)

(D) None of the above

The science of behavior is known as :
(A) Psychology

(B) Sociology

(C) Physiology

(D) Extension

Set-A



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® WA & IR GRITad StR—
A,B,CTd D | Wemdi & 89 9 fadwedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 (A ® ©

wm: D @ © ©

TSI IR AT U IR I8 PIeT AT 98a T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3. TH. IR, ST-T986 (OMR
Answer Sheet) WX 2 f 9 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. 3R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE &RM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, YEH-GRADET T 3 H, H-IR
& foru oy w@relt U1 W & fdan S ARy |

URIET-heT ¥ ANT-gab, Defdeicy, Yok a2l Heger

B o ST 9T SHBT SN AT Iioid 2 |

T & faval U9 3o SurRer § =TT 8 @l
T H YT BT U WUARYT & A B |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o
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